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Answers for Lesson 10-5, pp. 566-568 Exercises
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Answers for Lesson 10-5, pp. 566-568 Exercises (cont.}
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Answers for Lesson 10-5, pp. 566-568 Exercises (cont.)
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Answers for Lesson 10-5, pp. 566-568 Exercises (cont.)

39. (0, 1),y =

41. (0,%8),y =
43. (0, £4),y =

+x
+2x

+2x

40. (£1,0),y = *ix
42, (£5,0),y = +ix
Ea . 5
44. (£7,0),y = £3x

45. Replace x with x — 3 and y with y + 5 and rewrite to obtain
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47. a. For the x-values in those rows, the value of X2~ 9is
negative and so V x% — 9 is not a real number.
b. As x increases, y increases, but the difference between x
and y gets closer to zero.
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